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307 @Iz2tol ™ 18,000 18,000 0
02 QIZHBMANSE=X 18,000 18,000 18,000 0
Noe & -5 & HES # S
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2. Ai=s2EH E

SIHHE @ 20224
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JARE S 22H=ERI|2

OIPNF=2EUNE-—F} (che: & 2

= & Al g X = Al g
=y = =g o & TSl o e g = INE=== HEAEX SN s &
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] o 2 O[H 8 Xt & Ab & 4 565,850 1,015,850 A 450,000
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CREIHE2] Y FHZAHERZEH=272I|2) 607,850 1,055,850 £ 448,000
CERIZEA=2] Y MY ZA 607,850 1,055,850 £ 448,000
101 Q1244 42,000 40,000 2,000
04 DJI2ZtHZ2=z XS+ 42,000 42,000 40,000 2,000
1) JIZH 22X B (22,2828 5)
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201 Lt 3,850 3,850 0
01 AtR22|bl 1,350 1,350 1,350 0
NolM L THSEAMN S 1,000,000& = 1,000
DAQEOE S222M0s ALY 2
350,000& = 350
02 3=52gHl 2,500 2,500 2,500 0
NS - ded - SHEINSSFH 2,500,000& = 2,500
203 YR =X H| 2,000 2,000 0
03 AIMF=AYRF&H| 2,000 2,000 2,000 0
1) SIS 2EA 22X 2,000,000& = 2,000
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Nezzx =3 ¢ 550,000,0008 = 550,000

03 Al&=0il 10,000 10,000 10,000 0
NEE L8 10,000,0002 = 10,000

S(ES) 640,397 703,247 A 62,850

NE(E22E=7013) 640,397 703,247 A 62,850

== oA 640,397 703,247 A 62,850
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o O Xl (=) H
2020 = 2 & TH A 221U =LA@ 2022 =L B THA® S2(0-®@)

Al 963,329 703,247 640,397 262,850
0l Xl =2 A 963, 329 703,247 640,397 A 62,850

220 (KB=2I28) 963,329 703,247 640,397 A 62,850
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2. A== H=

SIAHAE 20224

Ol &k Xb== 0 =0l &

ARZE ¢ SRANHE SRASUAHIIS

OIPNF=2EUNE-—F} (che: & 2

= & A = X E A -
s = =g ME o= ol 5 Z g = XNENH HEAZX =N g &

= Al 779,145 760,361 18,784 | & Al 779,145 760,361 18,784
& = =2 0 0 0|dl & &t & At & Hi 0 0 0
2 S =2 0 0 ol A & A E i 39,900 39,900 0
Xt = = 0 0 ojer = 2 € 0 0 0
L I T 19,124 19,522 A398[01 =2 " bl 0 0 0
o & 3 233 =+ 0 0 0|l & = 0 0 0
ol X 3 = 747,991 729,189 18,802 | O Xl = 739,245 720,461 18,784
Oll o= = 0 0 OIS el 3aE 0 0 0
0l At o= 2 12,030 11,650 3800l == &l 3 & e 0 0 0
| Et o 0 0 vl Et Xl = 0 0 0
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216 Ol Xt==¢& 12,030 11,650 380
216-01 =3 0W =0l X ==& 12,030 11,650 380
I3 X2 olA=L(SLANEESXIUOIIZ)
12,030,000& = 12,030
700 EMd=ASLUHRHN 767,115 748,711 18,404
710 E& =S 767,115 748,711 18,404
713 8Xzd3a=+< 19,124 19,522 A 398
713-01 QIz2tg8X3sl+==+=< 19,124 19,522 A 398
Nz ol X3 al = 19,124,000& = 19,124
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AN .22 . HY. 09 - AS2AY - HAS X = o M C K& H DS 2
A& &= gt 779,145 760,361 18,784
Hol2 779,145 760,361 18,784
3 =2 dHE8 NMUlA M3 39,900 39,900 0
2RBTE A2 HOIIS(BRVNY X240 2) 39,900 39,900 0
SRZESRZ WIS 39,900 39,900 0
501 8At3 39,900 39,900 0
01 eIzts8Xxt3a 39,900 39,900 39,900 0
Na2& U4 43 84 39,900
2)4EH &M 4,300,000 x5F 13| = 21,500
2)2, 349X &M 3,680,000& *5H 13| = 18,400
MWRES(X=s1) 739,245 720,461 18,784
BEINE (2224 SH2UHAEIIS) 739,245 720,461 18,784
HeXa WX 739,245 720,461 18,784
602 Ol Xl = 739,245 720,461 18,784
01 etox 3 739,245 739,245 720,461 18,784
1212 oxl3 739,245,000& = 739,245
Xl £ g A 779,145 760,361 18,784
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qu @ I|_-I == _= [=] (0| X&) A Ol A O] jﬂ @ o1 AR |:1A|'=|- =
2016 Mt K| 1,804,424 619,000 998,706 0 186,718 0| 1,132,360 1,132,360 0 0 672,064
20179 = 40,932 0 27,391 0 13,541 0 20,349 20,349 0 0 20,583
2018 & 39,271 0 25,222 0 14,049 0 4,165 4,165 0 0 35,106
20199 = 29,112 0 16,108 0 13,004 0 26,389 26,389 0 0 2,723
2020 & 29,546 0 18,011 0 11,535 0 18,524 18,524 0 0 11,022
202149 = 31,215 0 19,522 0 11,693 0 24,722 24,722 0 0 6,493
202249 = 31,154 0 19,124 0 12,030 0 39,900 39,900 0 0 NB,746
Al 2,005,654 619,000 1,124,084 0 262,570 0] 1,266,409 1,266,409 0 0 739,245
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Al 729,189 747,991 739,245 A8,746
0l Xl =2 A 729,189 747,991 739,245 AB,746

220 (KB=2I28) 729,189 747,991 739,245 AB,746
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IAFE - MHESSHUs22012

OIPNF=2EUNE-—F} (che: & 2
= & Al g X = Al g
=y = =g o & TSl o e g = INE=== HEAEX SN s &
= H 960,468 1,573,000 A612,532 | & p.| 960,468 1,573,000 N~612,532
X o 2 H 8 & & Ab 2 b 579,788 93,840 485,948
& = 2 0 0 o8 X & A 2 0 0 0
%t o = 0 0 ojer = 2 o 4 43,792 44,016 N224
E o n®z % 5 0 0 o2 =2 & Hl 0 0 0
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=2 X3 Ol Xtz HcH3213)
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XH .22 - FH -0 - HRAY - BHAS N HEC X =N HnE2
02 BZRIHY 3,160 3,160 1,560 1,600
122622 S8 L MRS
10,0009 * 122 »3H & = 360
12IA0I 20 S4 2 M3
100,0008 * 128 = 1,200
NHEEs Yoty NHN 222 800,000 x23| = 1,600
301 BtEd3 1,020 1,020 0
09 EAAH XSS 1,020 1,020 1,020 0
NI ESA AHEA(CCHRIEE)
7,0008 30«23 = 420
DEAMNBAAS (=CHXIEEH) 100,0008 3% »23| = 600
307 2iztol ™ 81,600 0 81,600
05 QI2tES 81,600 81,600 0 81,600
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